o2 284 - O = aABC 9] 4o|th. A O oA BC o Hd
A9 8g Dt o, OB 9] Zo]=?

A

@ 6 @17 ® 8 @ 9 ® 10



a = cm



3. TS I™oA A2 ABC 9F ACD 9] 42 - 0 2 22 Holrt,
/ABC + /ADC 9] gk-& Fotofz=t

A




HoF].

9|

W] 4244 o] A vfzte] of

=)
=

a

__o_.‘_

si.

ook

Z}

=

Al Wzte] o]

Iz
=

@ A7 :

T1Efofs.

she 92

AR Ol A E RIAEo =
Q]

Sk

S

o HIX B2 FgtoH AL e}

® 3% :



5.

T 189 AABCoflA A I+ WA elth £BAI=20°, LACB =60°

Ao, zx8 1y o] 2717

A
202
I
607
B C
@ 7zx=120°, 7y =40° @ 1x=115° sy =45°
® x=110°, 2y =50° @ /x=125° 1y =35°

® zx=130°, £y =30°



6. o2 2N A 17t aABC O WAL W, 2x + 2y = ( )° <]
W& Fotofet,

A

25°

100°



7. the 2T 2o] sABC o WHSH: U1 9 MAE o] x
Aufelz}?

@ 1lcm @ 2cm ® 3cm @ 4cm ® 5em

rr



ao)A & 1= ZZHzHd ABC o WAol1, H D,E,F =

=1 2
H-olth. AC = 15cm, AB+BC = 2lem ¥ 1], AABC 9] 9]
Hr

B on



A

@ 5cm @ 6cm ® 7cm @ 8cm ® 9cm



10. The1eelA 47 ABC U50] A 0 91 = 217} sABC 9] 947

Aot /AOC - ZAIC = 15° & W, LOAC &) A7]= ( )o o|t}.
9 72 A9 Yol

A




